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Cumulative Review

1.	A store advertised 8 mangoes for $4.  How many mangoes can Marge buy 
for $7?

Units Ratio 1 Unit rate Ratio 2

Dollars     4 7

Mangoes     8
= =

2.	Xavier makes $9 for every 3 jars of jam he sells. How much will Xavier make if 
he sells 8 jars of jam?

Units Ratio 1 Unit rate Ratio 2

Dollars       9

Jars       3 8
= =

=
3

5

12

x

3. Determine the scale factor, and then find the missing value.
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Cumulative Review (cont.)

4. Eva’s camera takes 9 pictures per minute in sport mode. 

 What is the general rule for this scenario? y = 

If Eva goes on a photo shoot for 30 minutes. What is the maximum number 
of pictures she can take?   

Minutes 
x

Process
Pictures 

y

1

2

10

x
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Answer Key: Cumulative Review

1.	A store advertised 8 mangoes for $4.  How many mangoes can Marge buy 
for $7?

Units Ratio 1 Unit rate Ratio 2

Dollars 4 ÷ 4 1 7

Mangoes   8 ÷ 4 2 14
= =

2.	Xavier makes $9 for every 3 jars of jam he sells. How much will Xavier make if 
he sells 8 jars of jam?

Units Ratio 1 Unit rate Ratio 2

Dollars 9 ÷ 3 3 24

Jars 3 ÷ 3 1 8
= =

=
3

5

12

x

=5 x 4 x

=
3

5

12

20

=20 x

=
3

5

12

x

4

4

x

x

3. Determine the scale factor, and then find the missing value.
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Answer Key: Cumulative Review (cont.)

4. Eva’s camera takes 9 pictures per minute in sport mode. 

 What is the general rule for this scenario? y = 

If Eva goes on a photo shoot for 30 minutes. What is the maximum number 
of pictures she can take?   

9x

Minutes 
x

Process
Pictures 

y

1 9(1) 9

2 9(2) 18

10 9(10) 90

x 9(x) y

270 pictures



 
©2011 The University of Texas System/The University of Texas at Austin

PROPORTIONALITY 
Lesson 7: Determine Proportionality,  

Using Common Denominators Handouts

HMSTAR
INTERVENTION

A
ns

w
er

 K
ey

: P
ra

ct
ic

e 
1

R
a

tio
s

C
o

m
m

o
n

 

d
e

n
o

m
in

a
to

r
R

a
tio

 1
Eq

u
iv

a
le

n
t 

ra
tio

 1
R

a
tio

 2
Eq

u
iv

a
le

n
t 

ra
tio

 2

A
re

 t
h

e
 ra

tio
s 

p
ro

p
o

rt
io

n
a

l?

a
n

d
3 8

1 3
8 

x 
3 

=
 2

4
=

3 8

x 24

9 24
=

1 3

x 24

8 24
n

o

a
n

d
3 4

9 12
4 

x 
12

 =
 4

8
=

3 4

x 48

36 48
=

9 12

x 48

36 48
ye

s

a
n

d
2 3

9 15
3 

x 
15

 =
 4

5
=

2 3

x 45

30 45
=

9 15

x 45

27 45
n

o

a
n

d
6 9

9 12
9 

x 
12

 =
 1

08
=

6 9

x

10
8

72 10
8

=
9 12

x

10
8

81 10
8

n
o

a
n

d
2 3

8 12
3 

x 
12

 =
 3

6
=

2 3

x 36

24 36
=

8 12

x 36

24 36
ye

s

C
o

m
p

le
te

 t
h

e
 t

a
b

le
. A

t 
e

a
c

h
 o

f 
th

e
 m

a
rk

e
d

 p
la

c
e

s 
b

e
lo

w
, s

to
p

 a
n

d
 c

h
e

c
k 

yo
u

r a
n

sw
e

rs
 w

ith
 a

 p
a

rt
n

e
r 

a
n

d
 d

isc
u

ss
 re

a
so

n
in

g
.

: �C
h

e
c

k 
w

ith
 a

 p
a

rt
n

e
r a

n
d

 d
isc

u
ss

 re
a

so
n

in
g

.

: �C
h

e
c

k 
w

ith
 a

 p
a

rt
n

e
r a

n
d

 d
isc

u
ss

 re
a

so
n

in
g

.

: �C
h

e
c

k 
w

ith
 a

 p
a

rt
n

e
r a

n
d

 d
isc

u
ss

 re
a

so
n

in
g

.



 
©2011 The University of Texas System/The University of Texas at Austin

PROPORTIONALITY 
Lesson 7: Determine Proportionality,  

Using Common Denominators Handouts

HMSTAR
INTERVENTION

A
ns

w
er

 K
ey

: P
ra

ct
ic

e 
2

R
a

tio
s

C
o

m
m

o
n

 

d
e

n
o

m
in

a
to

r
R

a
tio

 1
Eq

u
iv

a
le

n
t 

ra
tio

 1
R

a
tio

 2
Eq

u
iv

a
le

n
t 

ra
tio

 2

A
re

 t
h

e
 ra

tio
s 

p
ro

p
o

rt
io

n
a

l?

a
n

d
3 8

1 3
8 

x 
3 

=
 2

4
=

3 8

x 24

9 24
=

1 3

x 24

8 24
n

o

1.
 �C

re
a

te
 4

 p
a

irs
 o

f 
ra

tio
s 

a
n

d
 w

rit
e

 t
h

e
m

 in
 t

h
e

 R
a

tio
s 

c
o

lu
m

n
 (

m
a

ke
 s

u
re

 a
t 

le
a

st
 2

 o
f 

th
e

m
 a

re
 

p
ro

p
o

rt
io

n
a

l).

2.
 �T

ra
d

e
 w

ith
 a

 p
a

rt
n

e
r a

n
d

 fi
ll 

o
u

t 
th

e
 t

a
b

le
 t

o
 fi

g
u

re
 o

u
t 

w
h

ic
h

 o
f 

yo
u

r p
a

rt
n

e
r’

s 
ra

tio
s 

a
re

 
p

ro
p

o
rt

io
n

a
l. 

Th
e

 fi
rs

t 
ro

w
 h

a
s 

b
e

e
n

 c
o

m
p

le
te

d
 f

o
r y

o
u

 a
s 

a
n

 e
xa

m
p

le
.

N
o

te
: A

n
sw

e
rs

 w
ill

 v
a

ry
.



 
©2011 The University of Texas System/The University of Texas at Austin

PROPORTIONALITY 
Lesson 7: Determine Proportionality,  

Using Common Denominators Handouts

HMSTAR
INTERVENTION

A
ns

w
er

 K
ey

: I
nd

ep
en

de
nt

 P
ra

ct
ic

e

R
a

tio
s

C
o

m
m

o
n

 

d
e

n
o

m
in

a
to

r
R

a
tio

 1
Eq

u
iv

a
le

n
t 

ra
tio

 1
R

a
tio

 2
Eq

u
iv

a
le

n
t 

ra
tio

 2

A
re

 t
h

e
 ra

tio
s 

p
ro

p
o

rt
io

n
a

l?

a
n

d
3 8

6 24
8 

x 
3 

=
 2

4
=

3 8

x 24

9 24
=

1 3

x 24

8 24
n

o

a
n

d
8 10

4 5
10

 x
 5

 =
 5

0
=

8 10

x 50

40 50
=

4 5

x 50

40 50
ye

s

a
n

d
6 10

4 8
10

 x
 8

 =
 8

0
=

6 10

x 80

48 80
=

4 8

x 80

40 80
n

o

a
n

d
6 7

5 12
7 

x 
12

 =
 8

4
=

6 7

x 84

72 84
=

5 12

x 84

35 80
n

o

a
n

d
9 12

6 8
12

 x
 8

 =
 9

6
=

9 12

x 96

72 96
=

6 8

x 96

72 96
ye

s


